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Literature Spot A

1. Poet
I Remember, | Remember
By
Thomas Hood (1799-1845)

Was a British poet and a humorist
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2. Play
All the World's A'stage
By
William Shakespare (1564-1616)

Was English playwright and poet, who is widely regards as the greatest
writer in the English language
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3. Novel / Story

‘The Old Man and The Sea
By
Ernest Hemingway (1899-1961)

American author and this novel was written in 1952, he won the Pulitzer
prize for fiction in 1953 for the old man and the sea and it is also
mentioned when he won the Nobel prize for literature in 1954
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1.POET:-
I remember, | remember :- by: Thomas Hood
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1-First stanza:

He talked about his childhood and where he,was born withvhappy
memories however the last two lines suggest that his present situation is
not very good, because he is ill and near death.

A my J oY) adadall L g alulal) 4l S0 Al gl 5 4il sila (e uia s 0 5V pdaiall
CSsall Gl ) e 5 (an je 4V 4l G pualall ) 5 oalall

2.Second stanza:

It is about the childhood andhit talks about happy memories.
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3. Third'stanza;

There,i1S«a contrast between the past and the present, he says that he was
in high spiritsias a young person (as he said in line 21) which contrasts
with the how he feels now( that is so heavy line 22)
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4.Fourth stanza:

He thinks of how he had childish thought as a young person, and wants to
go back to those times rather than be as he is now (lines 29-32)
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Questions:- S.B/P.81

A. Vocabularies:-

1.Why does the poet describe the sun as peeping in line 4?

-it suggests that it slowly got brighter and brighter at firstdt wasn't very
bright.

2.How do the word wing( line20) and the phrasSe flew in feathers
(line21) help us to work out the meaning of Swallows (1ine20 )?

-we know that the wings and feathers are both things, thatbirds have and
that they fly so a swallow must be a kind of bird.

B. Comprehension:-

1.How does the poet contrast his memories of the past with the
present day in the third stanza ? Refer,to the words in bold in your
answer.

-( my spirits flew infeathersithen®) he remembers his childhood being
very happy..But now he is not happy ( that is so heavy now) .

He alsofremembersithe summer pools that he probably used to enjoy
coaling off and swimming in on hot summer days, but says he is so ill
now-that,they wouldn't be able to cool him down. ( and summer pools
could hardly“cool / the fever on my brow)

2.In line 29 the poet refers to his childish ignorance. What was he
ignorant about?

-The poet was ignorant about the size of the world, he used to think that
the tops of the fir trees nearly touched the sky. The poet probably thought
this because he was short and the trees were so tall that he thought they
must touch the sky.

C. Analysis:-




1.In the second stanza, the poet express amazement that a tree (
where my brother set/ the laburnum on his birthday) is still living,
many years after it was planted, what does this tell us about the
poet's views of our relationship with nature?

-he amazed how the trees can live so long, whereas people come and go,
the poet seems to receive a great deal of pleasure from nature.

2.The last three lines of the third and fourth stanzas suggest that the
author has lost his youthful joy and optimism , do you agree with this
view point? Justify your answer ?

- | agree with this view point, the author's past was happier thansnow( my
spirit........ is so heavy now) however the poet is worried,about what will
happen after his death, as a child he was closer to heaven than he is now
(to know that I'm farther off from heaven/than when | was a boy).

Questions:- A.B /P.56

1.Read lines 3-6 what rhetorical device does the poet use to describe
the sun? quote any other examples of this'device from the poem?

- personification is used to describe,the’sun :
1.1 often wish the night/ had*dene my breath away.
2.my spirit flew in“feathers then
3.summer. pools could hardly cool /the fever on my brow.

2.Read line 19, the word rush is an example of onomatopoeia, are
there‘anywother‘examples of onomatopoeia within the poem.

1. swing
2.fresh

3.Why do you think the poet might be (farther of from heaven now)
discuss all possible meanings of this statement ?

| think that the poet is an adult now and has lost the 'childish ignorance'
that he had when he was a younger.



2.Play:-
All the World's a Stage:-

By : William Shakespeare
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all theworld's a stage w2 & si=

This excerpt is divided into stages:-

da s bl Shu¥) e bl 6 ) oa el (Y asndd

1.Babyhood Stage /line (1-5)
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2.Childhood Stage /line’(5-9)
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4.Late adulthood Stage / line (15-19)
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1.VVocabulary:-

1.In lines 10 to 14, the poet describes the soldier's life. Which word
refers to weapon used by soldiers?

-Cannon

2.Compare lines 8 and 11. How do they convey the images of a boy
and a soldier?

-The schoolboy is represented as innocent and clean with his "shinning
morning face" in line 8, this contrasted strongly with the soldier in line

3.Describe in your own words the image that the peet has,created of
the old man (lines 20-25) what is the old man wearing? How do his
clothes fit him? What does is voice sounddike:?

-He is now thin and stays indoors (‘slipperedrefers to,footwear that
people wear indoors, and 'pantaloon'tmeans.oldmandn this content) he
wears spectacles and has his bag for carrying his money with him, his
legs have grown thinner, so his,trousers donot fit well and his voice has
become high again like a child's .

4.Which a word in ‘'man’s last'stage®sums up the last line of the
speech: sans teeth, sans eyes;sans taste, sans everything ?

-Sans meaning ‘without' so at the end the person has nothing — he can't eat
because he hasho teethiHe can't see and he loses his sense of taste .

2.Comprehinsion:-

1.What are the five stages of a human'’s life, according to the speech?
List them,in the correct order.

1.boy hood ( infant)

2.childhood ( boy school)

3. Early adult hood (soldier )

4.late adult hood- middle age (the justice)
5.0ld age (second baby hood/childhood)



2.What does the playwright suggest about the soldier in lines 10 to
147 Choose the correct answer and justify it .

a. his life is short
b. he does not like conflict
c. he is aggressive and gets angry or violent easily.

-1t is C / the soldier is jealous in honour, sudden and quick in quarrel. He
iIs also seeking the bubble reputation( he does things that make him look
good even if they are pointless) even in the cannon's mouthy( even if it
means standing in front of guns) .

3.How does the playwright describe the appearance of the middle-
aged person?

-The middle aged person is fat from eating too.much'(,round belly on line
16) he has got hard eyes and a neat beard and he,knows lots of wise
sayings .

4.Look at the phrases in boldon lines 19 and 26 of the speech, how is
the life of a person compared t0 an actor in the theatre?

-A part in role in a play and the expression is 'to play a part. The last
scene is the end of ‘a play and Shakespeare is connecting this to the end of
life .

5.How dees the playwright describe the person in the first and last
stage of lifey?

-Theyraresboth litke young children- the first one is a baby but the second
is an old person.

6.What des the playwright mean by the line' this strange eventful
history (line 27 ) ?

-He means that life can be strange with lots of things happening in it .
3.1deas:-

1.Find a line from the speech that represents the following ideas.
1.ageing 2.time 3.careers 4.youth 5.human life



-1.ageing: lines 22-25
2.time: lines 26-27
3.careers: lines 10-19
4.youth: lines 5-9
5.human life: lines 1-4

2.Which stage of life is represented as the most positive, in your
opinion? Discuss this with reference to the speech and the ideas in
exercise 3 .

-In my opinion the most positive stage of life according to'this speech is
the justice because positive adjectives are used to describe,it such as ‘fair
and wise .

4.Analysis :-

1.Which simile does the playwright use toideseribe,the schoolboy as
he walks too school ?

-The poet uses (creeping like snail) meaning very slowly .

2.Find another example of a simile in the speech, which two things
are being compared.

-'bearded like the pard ' Shakespeare is comparing a soldier to a leopard .

3.In your opinion'which stages do you think the playwright believes
to be the mostpositives?

-1 think he believes middle ages is the most positive, because when the
persenthas become a judge, he's full of wise saying. He is also well fed
and serfeus‘inimanner and appearance .

4.Read the poem | Remember | Remember again on page 81, and
compare both authors' attitudes to childhood, in what ways do they
differ? In what ways are they similar ? which one do you prefer ?

-The poet and the playwright have very different views on childhood,
firstly, the poet sees it as a positive time of life, whereas the playwright
does not portray either the baby or the schoolboy very favorably .
secondly, the poet is talking about his own childhood while the
playwright is generalizing .



3.Novel / Story

The Old Man and The Sea
By : Earnest Hemingway

84 Lsoe e p N (o s el a3l sriile sl dall Joa s el o2
138 5 (ol il duan) il Gaaua 4l g s dbay () (e dal 40al QIS ST G alaiay ol g L sy
| ae alely (S I AL oty s 4y Cposs 4315 Sl bl diabeal lan alice L)
dias Ladie s 3 S lalie Lo selils Jias gaall e sy 84 5 e o s
o yabie CulS 38 S aan 5 G e ot s Ll et el oalidaa) e

(b A bay ) 85 Laataay S Aglac 48 jhay S8 4iS] aglaly 4ie S8 S dial) (L) I 5Y)
Ols dhan g cclans dlusal 8 aadall G o jliall S jad Jaqyd ol A )1 85 Wall 3 yia
OV Y ol daa 4 Hliay il 38 5 Lele Jasd clbba¥) JSigat 381 4ad ) dSad) slaial
O ) agiibial (e S 285 elall 86 piiiall cladll) ganglasie, (6 8l e ST dcala
LU ) el (A0 s gl Lag g daa A ode 7 g Llas

43l g Aalra A0 o g 43 sanll dbaigny detad My Gl gile jaall Adina s ) 3
salall I Liala gailile j8 (e ae Jlle JATaua Aojdiassu adly i) abe i
C e Sy Y Al saall 138 ae CLAN Ll Jae dad) y S Ll

LS gl Leaie ~lad) Y GiadalhGullSds B gilal) ASad  gaall dpa e Jilall (S
dia gegh G AR (5 gus a2 IR iy o] 4Senll adaall JSue) 138 ce il
,&)é.kgl_ﬁué\‘éjtg.e\}gﬂ\A)MY\‘éjeS%jeSUaaLdLSjigﬁu;tﬂY\

- IS ila Jha aslial] o el o i jali ) cung dadll Julad aie
*The elements of story
Lipill g Luasiy A acidiy 1.characters cilbuaidl
2.setting — time & i/
place gt/
3.theme s itel/
4.plot it/

5.conflict &l



The elements of story:-
Title: the old man and the sea

1.The characters:

a. Main characters :
1.Santiago : fisherman, old man, patient, optimistic, poor, active, dreamer

2.Manoline : fisherman, a student of Santiago, caring person, kind,
thoughtful, loyal to Santiago

b. Other characters

-waiter: cannot talk English ( because he is Cuban) and the official
language is Spanish.

-tourists :-

2.5etting :

1.place: Cuba/ in the sea

2.time : Morning/ night

3.Plot:

When the marlin'was caught itywas very big, Santiago insisted to catch it .
4.Conflict:

He.dreamt his childhood dream when he was in Africa and how he faced
lions;when'he was young and strong.

5. Theme

The theme of memory the dreams relate to the theme of strength



1.Comprehinsion :-

1.What evidence is there at the very beginning of the story that=
Santiago is a very optimistic and determined person ?

-he goes to sea to try his luck every day even though he hasn't caught
anything for 84 days.

2.When Santiago feels a bite on his line. He works out that * it must
be a big fish, perhaps a marlin® what evidence is there that he is
correct?

-1t drags the boat a long for a long time, so it must be a hig fish .

3.Why does Santiago go to sleep that night with,the:line tied around
himself ? ( paragraph 4)

-So that he doesn't lose it in the water andalse sothat he feels it when the
fish pulls it .

4.How does Manolin try te encourage Santiago not to give up
fishing? What does thisitell you about Manolin's character ?
(paragraph 9)

-Manolin tells Santiago that he beat the marlin and that he wants to fish
with him again because he still has a lot of learn.

Manolin reassures Santiago that the great fish didn't beat him and that
theywill fish'together again. He tells him that the old man still has much
to teach him. . Manolin seems to be a caring person, kind, thoughtful and
loyal to Santiago .

5. What is the reason for the tourists’ misunderstanding about what
the skeleton was ? ( paragraph 10 )

-The waiter couldn't speak their language and was trying to explain about
the sharks. However, the tourists only understood 'shark ' and assumed
that the skeleton was the skeleton of a shark .



2. ldeas :-

1.Find a line in the story that represents the following ideas .
1.memory -- line 10-11 and 33-36

2.determination--- 22line 1-2 and 13-15

3.strenght---2line 13-15 and 17-18

4.suffering and pain---- 2line 18 and line 21

2. In this retelling of the story, strength is represented in‘many ways.
Choose one example of strength and explain.its importance.

-The fish is an important representation ofsstrength,within,the story. After
it bites the line, Santiago is constantly if\competition'with it, needing to
use ' all his strength’ (line 14) to stay“in his-boat.lt issalso significant
since even though is stronger than Santiago he'manages to catch it .

3.Analysis:-

1.Why do you think that Manolin'siparents want him to stop fishing
with Santiago? Do you think they were justified ?

-They don't thinkeSantiago is‘productive enough, | think they are justified
because if Manolin 1S'hot making any money. It means that his whole
family will have nothing to eat .

2.What is‘thesimportance of Santiago's dreams of his youth and lions
in Africa?2,how does this relate to the themes in the story ?

-Perhaps heris remembering his youth and wishing that he was young
again so that he had the strength to deal easily with the problems at sea,
lions also signify strength, so as well as the theme of memory the dreams
relate to the theme of strength .



EXAM
Literature Spot A/ Level 3 :-

1.Read the following lines by Thomas Hood * I remember |
remember’

| remember | remember

The fir trees dark and high

| used to think their slender tops
Where close against the sky

It was a childish ignorance

But now 'tis little joy

To know I'm farther off from heav'n
Than when | was a boy

1.In this stanza the poet refers to the ‘childish ignorance' what was he
ignorant about ?

2. In the last three lines in this,stanza the poet has lost his joyful and
optimism, do you agreeywith thiswiewpoint, justify your answer.

3. Why do you think theiwwerd ' heaven' write as heav'n, explain .

Answers:-

1.the poet was,igherant about the world size , he used to think that the
tops of the fir trees nearly touched the sky. The poet probably thought this
because hewas short and the trees were so tall that he thought they must
touch the sky:

2.yes | justified, the poet is worried about what will happen after death as
a child he was closer to heaven than he is now ( to know tat I'm farther
off from heav'n / than when | was a boy )

3.the word heaven is written in the poem as heav'n because the rhythm in
poetry would be wrong if we pronounced heaven with three syllables we
need two syllables to keep the right rhythm so the poet write it heav'n .



2.All the world's a stage:-

1. The play 'as you like' there were five stages that Shakespeare
described in the excerpt 'all the world's a stage' , mention three of
them.

2.how does the playwright describe the appearance of adulthood
(as a soldier)

3.the word sans mentions with sans teeth , sans eyes, sans taste , sans
every thing, what does sans mean, and why does the playwright use
this word in the last stage ?

4.in your opinion which stage do you think the playwright believes to
be the most positive ?

5.which simile does the playwright use,to describethe schoolboy as
he walks to school ?

Answers :-
1.1.childhood stage/ 2.'early adulthood stage/ 3.late adulthood stage.

2.The soldier is.strong with'beard’jealous in honor, sudden and quick in
quarrel, he does things that make him look good even if they are
pointless.

3.Sans means without , so at the end the person has nothing. He can not
eat because he has'no teeth, he can not see and he loses his sense of taste .

4.1 think he believes middle age is the most positive because when the
person has become a judge he has full of wise saying, he is also well fed
and serious in manner and appearance.

5.The poet uses ‘creeping like snail’ meaning going very slowly.



3.The Old Man and The Sea : -

By:Ernest Hemingway

Read the following brief text from the story of * the old man and the
sea' by Ernest Hemingway and answer the questions below :-

‘Santiago is an old fisherman in Cuba. But for the last eighty-four days he
hasn't caught any fish. . his friend a young fisherman named Manoline
helps him to bring in his empty boat every day'............etC

1.According to the whole story, describe the'features of,main
characters in the story.

2. In the story there is a word which means® a curved object on
which to hang something for example afish ona'line’ .

3.Santiago tied a line around himself when he goes to sleep, explain it.

3.Manolin's parents want Manolin to stop fishing with Santiago, why
do you think'that parents refused Santiago, explain it .

4. Why does,the,playwright indicate to Santiago's dream of his youth,
what is‘the theme of being lion in the dream during his story .

5.Tourist guess the skeleton was for shark, how did they conclude it?



ANswers :-

1.Santiago: fisherman, old man, patient, optimistic, poor, active, dreamer

2.Manolin: fisherman, a student of Santiago, caring person, kind,
thoughtful, loyal to Santiago

2.Hook

3.Because he doesn't want to lose it in the water andhalsoithat he feels it
when fish pulls it .

4.The theme of being lion in the story tosindicate to the strength and how
Santiago was strong and had the ability to deal easilyswith the problems
in the sea as well as the theme of memory the dreams relate to the theme
of strength .

5.They concluded from the waiterawhen he told them about it in his own
language but tourist.couldn't, understand any words except the word '
shark’ .



